1. A young girl wants to select one of the
(frictionless) playground slides illustrated

below

to give her the greatest possible speed when
she reaches the bottom of the slide.
Which should she choose?

.S
.S

ide 1
ide 2

T

ney will

both be the
same.

. There is not
enough info

to decide.
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2. A young girl wants to select one of the
illustrated below to give her the greatest
possible speed when she reaches the bottom
of the slide. Friction cannot be ignored.
Which should she choose?
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T

weven

slides

ide 1
ide 2

ney will

both be the
same.

. There is not
enough info

to decide.
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3. A young girl jumps onto the (frictionless) slide
from the ladder (not shown) with a horizontal
velocity v,. What equation can be

used to calculate her speed, v,

at the bottom of the slide?

A. mgh=1im’

mgAh =Lmy’

Ly 2 — L00,2
>mv,” +mgh =5 my

1 2 1 2
>mv,” + mgAh=5my

None of these will work.




4. Three carts move without friction on an air track.
(Only part of the track is shown. It's actually much
longer.) They are connected by springs whose mass
can be ignored and have negligible internal friction.
Carts 2 and 3 are held fixed, cart 1 is pulled to the left
and all three carts are released at the same time.

For the system consisting of the 3 carts and 2 springs.
In the time interval from just after the carts are released

until just before the first cart hits the bumper at the end
of the track: Is the mechanical energy conserved?

A. Yes

B. No

C. Not enough
info to tell.
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5. Which of these configurations
has the largest electric PE?

. charge = +q
‘ charge = -q
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Contour plots/Topographical maps ss3
W Qe

B Contour plots
show the
topography of a
region by drawing
lines to show a
constant height
above sea level.

B Which path would

you prefer to walk

from a parking lot
to the top of the
mountain? Why?
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